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em ofthe Day: Solve the equation. - .
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an for the Day: Collect extra ciedifflagi les X=-3

Go over last week's homework “* =32 2n< 5 4 Q 5¢475 -b-225
Notes on graphing inequalities -5 — 5] - <
Activity with comparing inequalities ;s =72 LT - &

Objective: We will be able to graph ineﬁualitie_sz.\ ~b

Good luck JH Volleyball at Rusk!!
Today is National Teddy Bear Day!!

Inequality- open sentence featuring <, >, <, >; ditfers
< means less than from an equation because it is not equal (does not
> means greater than have an =)
< means less than OR equal to
> means greater than OR equal to Inequalities do not have one answer, but rather a

solution set of numbers that make it true.

Examples: x<6 x>-3
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Graph the solution set Example 1:  Graph the solution set for x <-3.
o "4

1. if it is < or >, then the number gets an open 3 t J
circle and the line extends in the correct way =3 (@)

2. if it is < or >, then the numberg gets a closed Example 2:  Graph the solution set for 5 <x.

circle and the line extends in the correct way

<@ g %3

0 S




Alg 9-9-19.notebook September 09, 2019

Example 3: Write an inequality to represent the Operion Wﬁ_‘,"{?«;)@““-"g”“b‘“ YA The R oc¥~
4

solution set shown. Starting Number R <
add2 Ll < (D
I e R o o o o o o o A [ <
109 87 6 5432101 234 567 8 910 ) 3
X223 -| < \
Example 4: Write an inequality to represent the e 3 < 5
solution set shown. Mlily by 2 ) < {®)]
oo ||| ‘,|3 g 3q
10 9 -8 -7 6 5 4 -3 -2 1 0o 1 2 3 4 56 7 8 9 10 Multiply by -3 -
X << 6
Add 5
Divide by 4
Subtract 2
Multiply by -1
Operation Walker A’s Position Inequality Symbol Walker B's Position

Starting Number

E Add

10 9 -8 -7 6 54 -3 2 -1 0 1 2 3 4 5 6 7 8 9 1
Multiply by
Divideby

Which operations on an inequality reverse the inequality symbol?

What is the difference between solving an equation and an inequality?
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